=
BT 1;,% 4. #BAO(E2HFEE) |5 AO(ERHFEE-F) |6. AD(BBAE-K)

2Bt A [F-APN [F-APN
EELi 1 337,190 1 157,002 1 180,188
ERH 13 13,524 13 6,392 13 7,132
7= 10 17,577 10 8,334 10 9,243
FEET 2 47,982 2 22,724 2 25,258
Ti&EH 6 27,038 6 13,091 6 13,947
Al 8 22,606 7 11,025 8 11,581
BET 9 20,907 9 9,714 9 11,193
TiEEBKT 12 13,778 12 6,421 12 7,357
mA+h 3 34,313 3 16,183 3 18,130
Emmh 4 32,961 4 15,847 4 17,114
Ll 5 27513 5 13,261 5 14,252
BLEHT 30 2,584 29 1,270 30 1,314
ZEHFIHET 27 3,326 27 1,511 27 1,815
H EFHT 28 2,733 28 1,290 28 1,443
= T 29 2,631 30 1,256 29 1,375
P 41IES) 32 1,294 32 607 32 687
BEERAT 33 823 33 391 33 432
= 24 3,858 24 1,802 24 2,056
A LLIET 26 3,573 26 1,726 26 1,847
REET 23 3,962 23 1,817 22 2,145
T {%HT 22 3,997 22 1,869 23 2,128
RINF 34 396 34 202 34 194
LNDHT 7 22,767 8 10,797 7 11,970
=) BT 19 5,551 19 2,602 19 2,949
Fh - {EHT 16 6,840 16 3,170 16 3,670
&)1 BT 14 13,114 14 6,158 14 6,956
&N ET 17 5,795 18 2,669 17 3,126
SR ET 25 3,608 25 1,750 25 1,858
BHE# 21 5,030 21 2,337 20 2,693
JEETET 18 5,794 17 2,750 18 3,044
P4 5 + T 11 17,325 11 8,197 11 9,128
XK HHET 20 5,095 20 2,424 21 2,671
=R+t 31 1574 31 749 31 825
= ET 15 11,217 15 5,334 15 5,883
= 728,276 342,672 385,604
> ER27F10A1H ER27F10A1H ER27F10A1H
=g EPRE EPRE EFRE
H AT wigd wiga wiga
&5

5. AR (A8#HE-5) o

40km




6. AO (BZHAE - L)

0

B17. BAOEREXRES |8. AOD(FREXRSIKR. [9. AOFEREXRSNK:

TETAT 4 (42 [1R) %) %)
| 2Bt A IBHL A [F-APN
=™ 1 336,052 1 156,783 1 179,269
ERH 13 14,562 13 6,911 13 7,651
7= 10 18,259 10 8,663 10 9,596
FEET 2 48,298 2 23,016 2 25,282
Ti&EH 5 28,063 5 13,580 5 14,483
Al 8 23,153 8 11,258 8 11,895
BET 9 21,598 9 10,145 9 11,453
TiEEBKT 12 14,707 12 6,959 12 7,748
mA+h 3 35,006 3 16,566 3 18,440
Emmh 4 34,037 4 16,435 4 17,602
Ll 6 26,914 6 12,604 6 14,310
BLEHT 30 2,734 30 1,310 30 1,424
ZEHFIHET 27 3,386 27 1,580 27 1,806
H EFHT 28 2,833 29 1,353 28 1,480
= T 29 2,822 28 1,366 29 1,456
P 41IES) 32 1,397 32 650 32 747
BEERAT 33 936 33 433 33 503
= 24 3,881 24 1,833 24 2,048
A LLIET 26 3,598 26 1,721 26 1,877
REHT 22 4,199 23 1,893 22 2,306
T {%HT 23 4,084 22 1,927 23 2,157
RINF 34 420 34 213 34 207
LNDHT 7 24,076 7 11,489 7 12,587
=) BT 19 5,962 19 2,787 19 3,175
Fh - {EHT 16 7,369 16 3,436 16 3,933
&)1 BT 14 13,427 14 6,332 14 7,095
&N ET 18 6,011 18 2,808 18 3,203
SR ET 25 3,677 25 1,775 25 1,902
BHE# 21 5,253 21 2,463 21 2,790
R EPET 17 6,143 17 2,930 17 3,213
P4 5 + T 11 18,128 11 8,577 11 9,551
XK HHET 20 5,527 20 2,632 20 2,895
=R+t 31 1,672 31 811 31 861
= ET 15 11,875 15 5,627 15 6,248
= 740,059 348,866 391,193
> R 28FE1A1H ER28FE1A1H ER28FE1A1H
=g FREAESRAODZE [FTREXEGRAODZE FREXASKRAODEE
H AT WEEBAR1TEE WEEBAR1TEE WEEBAR1TEE
&5

A)

7,114

1,193

6, 956

2,949

2,056

1,375
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BT 1:,% 10. tHEH 11. H#HHEAR 12. AOEREL

| 4| IBGL HF B A CtEELY) [ B A

=™ 1 162,556 21 2.07 34 A 1,360
ERH 12 7,852 31 1.85 29 A 355
7= 11 8,547 12 2.14 31 A 396
FEET 2 21,965 6 2.20 20 A 173
Ti&EH 6 12,385 3 2.27 25 A 268
Al 7 11,109 18 2.08 28 A 335
BET 9 10,211 16 2.12 27 A 301
TiEEBKT 13 7,619 28 1.93 32 A 429
mA+h 3 16,476 13 2.12 30 A 395
Emmh 4 14,614 1 2.33 15 A 124
Ll 5 12,950 19 2.08 23 A 257
BLEHT 28 1,541 33 1.77 11 A 69
ZEHFIHET 26 1,758 29 1.93 13 A 73
H EFHT 29 1,335 15 212 5 A 17
= T 30 1,304 10 2.16 9 A 54
P 41IES) 32 644 9 217 3 A3
BEERAT 33 453 22 2.07 4 A8
= 27 1,739 5 2.23 8 A 48
A LLIET 24 1,814 27 1.98 14 A 105
REHT 22 2,411 34 1.74 17 A 150
T {%HT 23 2,017 25 2.02 7 A 25
RINF 34 232 32 1.81 2 0
LNDHT 8 10,773 4 2.23 33 A 552
=) BT 17 3,200 30 1.86 21 A 198
Fh - {EHT 16 3,609 23 2.04 18 A 151
&)1 BT 14 6,121 7 2.19 22 A 243
&N ET 18 2,907 20 2.07 10 A 54
SR ET 25 1,809 24 2.03 1 7
BHE# 21 2,416 8 217 12 A 70
JEETET 20 2,698 2 2.28 16 A 132
P4 5 + T 10 8,626 17 2.10 26 A 281
K AHT 19 2,748 26 2.01 19 A 162
=R+t 31 777 11 2.15 6 A 20
= ET 15 5,593 14 2.12 24 A 262
= 352,809 2.10 A 7063
F ER28FE1A1H ER28FE1A1H FR27E1A1E~FH2E12A31H
=g FREAESRAODZE [FTREXEGRAODZE FREXASKRAODEE

H AT WEEBAR1TEE WEEBAR1TEE WEEBAR1TEE

&5

14, HAESR 0

(% (ABFAHFY))

1. 64
6.57
5.26
4.99
4.55
2.96
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H 2R P33 P33
HETH & 1= 13. AOZE 14, HAR 15. SRR

2| BB AN (Tkmt=Y)) | NBHL %o (AOFALY) [ BARL % (AOFAHTF=Y)
EELi 1 1,087.6 3 8.0 34 10.6
EFmH 13 58.7 28 3.6 12 19.5
7= 14 57.6 19 5.0 21 16.0
FEET 3 3855 2 8.0 32 11.6
Ti&EH 4 306.7 8 6.6 27 14.1
Al 6 170.9 12 55 28 14.0
BET 11 75.5 10 6.3 25 14.8
TiEEBKT 16 55.2 27 3.6 4 22.1
mA+H 15 55.4 5 76 26 14.4
Emmh 5 269.1 6 7.3 33 10.8
Ll 21 50.0 11 5.8 22 15.6
BLEHT 23 36.9 33 14 17 17.8
ZEHFIHET 8 119.4 20 49 6 21.7
H E7ET 2 433.8 7 6.7 31 11.9
= T 17 53.9 23 49 23 15.0
P 41IES) 32 7.1 18 5.0 15 18.6
B+ 33 5.7 34 1.1 29 13.8
= 10 98.0 4 7.6 9 20.1
A LLIET 26 26.8 13 5.4 3 22.4
REHT 31 13.3 32 2.8 1 28.1
T {%HT 28 19.3 9 6.6 20 17.0
RINF 34 4.4 1 9.5 7 21.4
LNDHT 20 51.1 24 45 24 148
=) BT 29 17.9 30 2.9 2 26.0
Fh - {EHT 22 38.1 26 4.1 5 21.8
& )11 8T 7 133.2 15 5.2 19 17.3
#R &N ET 18 53.7 17 5.1 8 20.6
SR ET 30 15.6 21 4.9 11 19.6
BHE# 9 1171 22 49 30 13.0
R EPET 24 31.0 14 5.3 16 17.8
/a5 + BT 25 28.2 16 5.2 18 17.4
XK HHET 19 53.7 31 2.8 10 19.9
=R+t 27 19.6 29 3.0 13 19.5
= ET 12 63.0 25 4.4 14 18.9
= E 104.2 6.8 13.4
> R 28FE1A1H MR 27 MR 27
ié*’_l. pREAaRADER, cRmuRRnEeamae ({3 E%Z'K-E‘IDEA a E%" 1x E%j&é‘ﬂ]ﬁ* a E%"
H AT wHLR. BtasE-DER | {RFEE BIR1TERE WEEBAR1TEE

ER2TFE1EBOEE | FR2IF1ERDIEET
&5 B/FER21E1RAVBRE |/ FER27TFE1B1BIRE
A0 x 1000 A x 1000

15. ZETE*E 0

(% (ABFAHEY))

40km
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mmﬁ%1£u5¢¢kuﬁﬁ 17. £ESEEHAOLLE (18 EBEAOLE
% IBfL % B % B %

EELi 2 12.8 1 59.7 34 274
ERH 31 7.2 22 48.4 4 44.4
7= 12 10.0 9 52.9 24 36.9
FEET 3 12.7 2 58.3 33 29.0
Ti&EH 6 11.1 7 54.6 29 343
Al 13 9.9 8 54.5 27 355
BET 8 11.1 4 55.0 30 33.9
TiEEBKT 29 8.0 24 47.9 6 441
mA+H 4 11.9 6 54.8 31 33.4
Emmh 1 13.1 3 56.4 32 30.5
Ll 11 10.1 15 51.6 22 38.3
BLEHT 33 6.4 31 45.8 3 471
ZEHFIHET 20 9.3 18 49.8 18 40.7
H E7ET 18 9.5 12 51.9 21 38.4
= T 30 7.4 17 49.8 13 42.6
e+t 10 10.2 23 48.0 15 41.4
B+ 19 9.4 14 51.6 20 38.8
= 5 114 13 51.6 26 36.3
A LLIET 24 8.8 29 47.0 7 43.6
REHT 34 48 34 38.7 1 55.8
T {%HT 17 9.6 30 47.0 10 429
RINF 15 9.8 32 45.7 5 44.3
LNDHT 16 9.7 5 55.0 28 35.2
=) BT 32 6.8 33 39.9 2 52.6
Fh - {EHT 27 8.4 20 48.7 14 424
&)1 BT 7 11.1 11 52.2 25 36.4
#R &N ET 25 8.7 28 474 8 43.6
SR ET 21 9.3 26 47.7 11 42.9
BHE# 22 9.3 10 52.2 23 38.2
R EPET 9 10.3 25 478 16 41.4
/a5 + BT 14 9.8 19 49 1 17 41.2
XK HHET 28 8.4 21 48.7 12 42.7
=R+t 26 8.7 27 475 9 43.0
= ET 23 8.9 16 50.5 19 40.6
= E 11.5 55.9 32.5
> R 28FE1A1H ER28FE1A1H ER28FE1A1H
=g FREAESRAODZE [FTREXEGRAODZE FREXASKRAODEE
H AT WEEBAR1TEE WEEBAR1TEE WEEBAR1TEE

WMAOIZCEDHDI5mEK (RAOIZHOHD15~64 |[FAOIZEHDHDH655 L
&5 BAODEE BAODEE tAODEE

16.

FoANOLE 0

(%)

11.87
10. 34
9.76

8. 81
7.99
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HETH & 1= 19. ZEHFLIEH 20. EHEEH 21. NEAH
% IBfL % [F-APN [F-APN
EELi 34 213.81 1 281,271 1 3,066
ERH 4 614.56 12 12,919 Al
7= 24 370.25 10 15,776 71
FEET 33 228.64 2 40,252 289
Ti&EH 29 307.67 5 23,765 3 317
Al 26 357.10 8 19,354 2 408
BET 30 305.25 9 18,155 10 74
TiEEBKT 6 552.09 13 12,762 16 45
mA+h 31 281.23 3 29,592 7 149
Emmh 32 233.77 4 28,261 6 153
Ll 23 378.88 6 23,094 5 267
BLEHT 3 739.66 30 2,434 14 59
ZEHFIHET 16 437.14 27 2,960 26 12
H EFHT 20 405.60 29 2,450 29 8
= T 5 572.86 28 2,545 31 3
e+t 21 404.90 32 1,189 30 4
B+ 19 412.50 33 810 33 2
= 28 319.05 24 3,290 21 22
A LLIET 11 495.27 26 3,136 19 25
REHT 1 1,171.00 22 3,804 17 34
T {%HT 15 446.06 23 3,547 23 16
RINF 14 453.66 34 358 34 1
LNDHT 25 363.35 7 20,902 9 100
=) BT 2 775.74 19 5,257 15 48
Fh - {EHT 8 505.17 16 6,438 22 18
& )11 8T 27 327.01 14 11,445 18 32
&N ET 9 500.19 17 5,288 24 13
SR ET 12 462.46 25 3,191 32 3
BHE# 18 412.53 21 4578 27 10
JEETET 22 400.79 18 5,276 20 24
P4 5 + T 17 421.75 11 15,637 13 68
XK HHET 7 509.05 20 4,806 28 9
=R+t 10 495.86 31 1,433 25 13
= ET 13 457.83 15 10,274 8 114
= 281.74 626,249 5,548
> R 28FE1A1H ERK28F12H2H ER27F10A1H
=g FREXRERAOEE [EXALE EFRE
H AT WEEBAR1TEE EEZXEBRRES WEEAMER
65m Ll EAO/15mEKE(12H 2B KR

&5 AR %100

(%)

44. 36

43.00

42.43

40. 60

36. 95

34.29
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